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INSTRUCTIONS TO CANDIDATES

This question paper has 50 questions. Each question carries one mark. There are four
choices for answer (A, B, C, D). to each question. Choose the correct answer (one only) for
each question and write the answer in the space provided against each question.

Candidate must write Name, Roll No. and sign on each page of this booklet.

The candidate should check that the booklet does not have any unprinted or torn or missing
pages or questions etc. If so, get it replaced with another question paper, before question
paper starts.

One (1) mark will be awarded for each correct answer. There will be negative marking and (-
Y4) mark will be awarded for each incorrect answer.

The unanswered questions will not attract negative marking

Return the Question Paper cum Answer Sheet to the invigilator after the examination is over.
Mobile, Electronic Watch and other Electronic Gadgets are prohibited in the examination.
There should not be any cutting or overwriting in the Answer.

Use of Unfair Means in Examination will lead to cancellation of candidature.
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In the first 10 overs of a cricket game, the run rate was only 3.2. What
should be the run rate in the remaining 40 overs to reach the target of 282
runs? A
A.6.25 B.6.5
1 G 6.75 .7
fepehe TeT o Tger 10 3NaRT 3 IoT I shael 3.2 UT| 282 T&il o o1& Toh
TE T o ToIT 21 40 371eRT H T YT AT gl A1igT?
|AT6.25 B.6.5
C.6.75 D.7
In a certain store, the profit is 320% of the cost. If the cost increases by
25% but the selling price remains constant, approximately what
percentage of the selling price is the profit? B
A.30% B. 70%
C. 100% D. 250%
2
e fATRE GaleT 3 SI18T ST T 320% &1 AT IR 25% ¢ STell &
AfereT fasha oo [EUR BT §, Al fasha Feg 1 oore7aT fehce
gfererd e1eT glar g?
A. 30% B. 70%
C. 100% D. 250%
On selling 17 balls at Rs. 720, there is a loss equal to the cost price of 5
balls. The cost price of a ball is: D
A. Rs. 45 B. Rs. 50
C. Rs.35 D. Rs. 60
3
17 &Y &l 720 T H 9=t W) 5 et o Sf9TcT Hed o SRIsR i gleir
¢ U 3¢ T AT Hod &
A. Rs. 45 B. Rs. 50
C. Rs 55 D. Rs. 60
A sum of Rs. 12,500 amounts to Rs. 15,500 in 4 years at the rate of
4 simple interest. What is the rate of interest? D
A. 3% B. 4%
C. 3% D. 6%




12,500 ST &Y TTRT FTETROT s4ToT T 2 & 4 99 & 15,500 F9 &7 SATr
&1 ST eX FATE?

A. 3% B. 4%

C. 5% D. 6%

Ifa-b=3and a2+ b"2 =29, find the value of ab.

A. 10 B.12

C. 15 D. 18
IfEa-b=33a"2 + b2 =29 %, dl ab F A AT RITAT
A. 10 B. 12

C. 15 D. 18

A train 800 metres long is running at a speed of 78 km/hr. If it crosses a
tunnel in 1 minute, then the length of the tunnel (in meters) is:

A. 440 B. 360

c. 500 D. 600

800 FHreX widT Ueh o7 78 fahal/Eer Y a1l & <ol TET & | Ife; Ig Th
TIIT I 1 TR & IR T &, Al GET HT AeTg (FIeX #) &

A. 440 B. 360

C. 500 D. 600

The greatest possible length which can be used to measure exactly the
lengths 7m, 3 m 85 cm, 12 m 95 cm is:

A.15cm B, 25.¢m

C.35 em D. 42 cm

dg 31T ad TFHg draTs T & fSTehr 39IeT 7 #Hiey, 3 HieX 85
Y, 12 FreT 95 AHT Y TFa1S F1 Seh-SIeh AT o forv fovam sir

Hehdl 87
A. 15 cm B. 25 cm
C.35cm D. 42 cm

In a mixture 60 litres, the ratio of milk and water 2 : 1. If this ratio is to
be 1 : 2, then the quantity of water to be further added is:

A. 20 litres B. 30 litres
C. 40 litres D. 60 litres

60 ol & TASIOT 3, g8 HR UT=Al &7 37U 2:1 &1 e Ig Heqard 1:2
% A 31T fHTT ST aTel 9TeiT T AT B

A. 20 litres B. 30 litres
C. 40 litres D. 60 litres




A man walked diagonally across a square park of side length 10m.
Approximately, what was the walking distance (in m)?

A. 14 B. 24
C. 16 D. 20
9
Teh 3TEHT 10 FHITT 31T T TS aTel Teh IR Teh 3 ool &9 &
T | ST, ﬁaﬁﬂaﬁﬁqﬁ(mﬂﬂ)waﬁo
A. 14 B. 24
C.16 D. 20
Write the following statement in the form of an equation: If you subtract
2 from 7 times a number, you get 5
A.2x—-T7=5 B.7x-2=5
C.7x+2=5 2wt 7 =3
10
TR FHYA P THHIOT & T H ford: I 39 Fordll aear & 7
AT 7 A 2 TeTd §, Y TR 5 UTed Bl &
R 2x-7=5 B.7x-2=35
C.7x+2=5 D.2x+7=5
The three numbers are in the ratio 1/2 : 2/3 : 3/4. The difference between
greatest and smallest numbers is 36. Find the numbers.
A. 72,84, 108 B. 60, 72, 96
C. 72, 84,96 D. 72, 96, 108
11
et T 1/2 1 2/3 : 3/4 % 3rgard A &1 T 931 AR o8 oI
T3 & e 7 37aR] 36 ¥ GEATE A AT
A. 72,84, 108 B. 60, 72, 96
C. 72, 84,96 D. 72, 96, 108
A is formed by reversing the digits of B. B is 45 less than A. The sum of
the digits of B is 9. What is A?
A. 36 B. 81
C. 54 D. 72
12
A, B & 37ehl &l Solced A IIaT &1 B, A H 45 HH | B & 37l o1 1T 9
SIAFTE?
A. 36 B. 81
C. 54 D. 72
Square of difference between two numbers is 9 while the sum of squares
of those two numbers is 225. What is their product?
A. 108 B. 125
13 |C. 169 D. 96

a) gEar3it & S 3a¥ 1 gev 9 & STafer 37 & AT & @it 1 Jer
225 §| 3eThT I[0TeTthel FATE?




A. 108 B. 125
C. 169 D. 96

Manoj wants to paste wallpaper on wall of his room. The wall is 4 meters
and 50 cm in length and 3 meters and 50 cm in height. But the wall
should be covered completely only by square pieces of wallpaper having
same size. What is the number of maximum sized wallpaper squares
needed to cover the walls completely?

A 8 B. 15.75
C.63 b 12

14
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aferduy gaif 1 e faael gl e e?
A. 8 B. 15.75
C. 63 D. 12
What will be selling price, if cost price is Rs. 120 and gain is 35%7?
A.Rs. 135 B. Rs. 85
€. Rg. 155 D. Rs. 162

15
IS v He 120 T9A § AR A1 35% &, ot Tarsha #{ear oFm gram?
A.Rs. 135 B. Rs. 85
C.Rs. 155 D.Rs. 162
[t was Sunday on Jan 1, 2006. What was the day of the week Jan 1,
20107
A. Sunday B. Saturday
C. Friday D. Wednesday

16
1 STeTaxT 2006 T IFEER 2AT| 1 SFTaT 2010 T HedTg T it AT et
q1?
A. Tidar B. Afdk
C. hdiY D. T¥9dR

2 2
A and B can finish a piece of work in 30 days, B and C can finish itin 15
days, C and A in 10 days. Time taken by them together to do this work
is?
A. 5 days B. 2(1/2) days
17 C. 7(1/2) days D. 10 days

A 3R B U SIH &1 30 Tl § Rt @ &, B 3R C 39 15 feaAt &
R T TR, C 3T A T 10 oft 3 937 75 ) B 50 1 1 G
S F 378 U 1Y FFdaTl T oM

A. 5days B. 2(1/2) days




C. 7(1/2) days D. 10 days

What is the least number which when divided by the numbers 3, 5, 6, 8,
10 and 12 leaves in each case a remainder 2 but which when divided by

13 leaves no remainder?

A, 312 B. 962
C. 1586 D. 1562
18
g% TaY DI TEAT i AT § To18 €&A13, 5, 6,8, 103127
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A. 312 B. 962
C. 1586 D. 1562
The ratio of two numbers is 5 : 6 and their LCM is 480, then their HCF
1s?
A. 16 B. 96
. 12 D. 240
19
%’N-itsuuﬁwwgqid 5:6 & 31X 3ART LCM 480 &, A 3eTenl HCF 7T
3}
A. 16 B. 96
C. 12 D. 240
A can do 1/4" part of work in 10 days and B can do 40% work in 40
days and C can do 1/3" of the work in 13 days. Who will complete the
work first?
A A B. B
C. C D. A and C both
20
A HIH T 1/4 H1T 10 T & X ThT § 3R B 40% H1H 40 et H T
HehaT & 3R C HTH &M 1/3 $19T 13 T 7 X FohdT & | HTH T Tgel
leT qRT HM?
A A B. B
B & D. A 3R Ca=t
Choose the word which is most opposite in meaning to the word
71 “Subvert”
A. Alacrity B. Help
C. Remuneration D. Acclaim
If you teach at a big international school, besides receiving a handsome
salary your child will receive education there for free. It is called as
22 | A. Voluntarily B. Pricelessly

C. Mominally D. Gratis




23

Following is a set of four sentences. Choose the sentence which is most
appropriate - grammatically, semantically and logically.
A. This site will give atleast several no-follow links to your blogs and

site from your articles.
B. This site allows you to give several no-follow links to your blogs and

site from your articles.
C. This site allow you to give several no-follow links to your blogs and

site form your articles.
D. You can get several no-follow link to your blog and site from this

article.

24

Choose the word which is most similar in meaning to the word

“Aesthetic”
A. Mediocre B. Prevalent
C. Ugly D. Beautiful

25

Change the voice of the sentence “She bought a pearl necklace™
A. A pearl necklace was bought by her.

B. A pearl necklace had been bought by her.

C. A pearl necklace had been bought for her by him.

D. A pearl necklace was bought for her.

In the question below, there is a sentence with jumbled up parts.
Rearrange these parts, which are labelled a, b, ¢ and d to produce the
correct sentence. Choose the proper sequence.A. She wondered if; B.

26 |work hard for a living; C. he would ever; D. because he was so rich;
Correct Sequence will be:
A. abcd B. abdc
C. acbd D. bcda
Choose the word which is most opposite in meaning to the word
27 “Ample”
A. Complete B. Insufficient
C. Quiet D. Supple

28

Change the voice of the sentence “Let him take the oath”
A. Tell him to take the oath.

B. Let the oath be taken by him.

C. The oath needs to be taken by him.

D. Let he has to take the oath.

29

The seniors (apology) for their rude behavior with juniors.
A. apologetic B. apologising
C. apologized D. apologetic




30

Change of speech: “Please don’t go away™ he said.
A. He said please him and not to go away.

B. He told me to not to go away.

C. He begged that I not go away.

D. He begged me not to go away.

Summer Olympics 2028 is is going to be held?

A New Delhi B. Paris
C. London D. Los Angeles
3l
SfrerepTeiieT 3eiften 2028 3TN &1t aTer &7
AS el B. aR@
C. dlaad D. i UTaTed
How many events were conducted in Paris Summer Olympics 20247
A.300 B.340
C.329 D.330
32 | ofte sirareiieT 3ieiR 2024 # frae affRIaTd seifse
CIEY
A.300 B.340
C.329 D.330
Gold medal performance in Javelin Throw by Neeraj Chopra in Tokyo
Olympics?
A.87.59 B.87.58
C.87.56 D.87.60
33
T ANl & Safae AT 7 FReT AI9ET &M Mes ASd IG2TaT?
A.87.59 B.87.58
C.87.56 D.87.60
Who was the Official Sponsors of Indian Hockey Team?
A.OMC B.ONGC
B.BPCL D.I0C
34
AT ichT ST T 3MTERITNGR UTTSTeh shief 2AT?
A.OMC B.ONGC
B.BPCL D.I0C
Deepika Pallikal is famous in which area?
A.Sports B.Actress
C.Politician D.Writer
35
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Current Union Sports Minister of India?

A.Chirag Paswan B. Mansukh Mandaviya
C.Raksha Khadse D. Sukanta Majumdar

36
HIT & TcAHTeT e, Wel FHAT? .
A.FRRTeT grders B. 7 g@ A
CI&TT @sd D. Hehlcl HSHCR

What is TOPS in Indian Sports?

A. Target Olympic Podium Scheme

B. Target Olympic Progressive Scheme
C. Target Olympic Personal Scheme

D. Target Olympic Prestigious Scheme

HRATT Well & TOPS AT &2

A. & 3TelT0% qif$Ta Iieter
B. 918 3Teitaes warfaeiier Jrstarm
C. 9187 3Melfas saiFderd IaT=AT
D. o 3eifues ufafaa Jiser

Indian Movie RRR got OSCAR award in which category?
A. Best Original Dance B. Best Original Song
C. Best Original Music D. Best Original Art

38
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What was the Indian GDP among all countries till 1 July 20247
A.Rank-3 B.Rank-2
C.Rank-4 D.Rank-5

39
| STeITS 2024 deh T 221t & & RAT GDP F4r o7
A3 BYh2
Clw-4 DY¥&-5
Current Indian Finance Minister is from which State?
A.Telangana B.Karnataka
C.Kerala D.Tamil Nadu

40
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A. ASTITAT B.&eIceh
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41

Which of the following is the correct abbreviation of COMPUTER?
A. Commonly Occupied Machines Used in Technical and Educational

Research
B. Commonly Operated Machines Used in Technical and Environmental

Research
C. Commonly Oriented Machines Used in Technical and Educational

Research
D. Commonly Operated Machines Used in Technical and Educational

Research

fAfaT@d & O e AT HTII HT e HaTed §7 &2
A. Commonly Occupied Machines Used in Technical and Educational

Research
B. Commonly Operated Machines Used in Technical and Environmental

Research
C. Commonly Oriented Machines Used in Technical and Educational

Research
D. Commonly Operated Machines Used in Technical and Educational

Research

42

What is the full form of CPU?
A. Computer Processing Unit
B. Computer Principle Unit
C. Central Processing Unit
D. Control Processing Unit

T T ot Wi T 82

A. Computer Processing Unit
B. Computer Principle Unit
C. Central Processing Unit
D. Control Processing Unit

43

Which of the following language does the computer understand?
A. Computer understands only C Language

B. Computer understands only Assembly Language

C. Computer understands only Binary Language

D. Computer understands only BASIC

frEafafad # & Hiet A 79T HYEX THSAAT &7
A. Computer understands only C Language

B. Computer understands only Assembly Language
C. Computer understands only Binary Language

D. Computer understands only BASIC

44

Which of the following is the brain of the computer?
A. Central Processing Unit B. Memory
C. Arithmetic and Logic unit D. Control unit




fFAfafaa 7 & sl soge #1 Afeass &

A. Central Processing Unit B. Memory
C. Arithmetic and Logic unit D. Control unit
Which of the following is not a characteristic of a computer?
A. Versatility B. Accuracy
C. Diligence D.1.Q.
45
ferfafea & & sl o aogex & faervar =g &2
A. Versatility B. Accuracy
C. Diligence D. L.Q.
Which of the following is the smallest unit of data in a computer?
A. Bit B. KB
C. Nibble D. Byte
46
frafof@d & & sl o e 71 e Hr aad orér gars &2
A. Bit B.KB
C. Nibble D. Byte

47

Which of the following monitor looks like a television and are normally
used with non-portable computer systems?

A.LED B.LCD
C.CRT D. Flat Panel Monitors

fFafafaa & @ sla a1 Afferes eenfaser srar f@ar § 3k smrak
IR IR-AIESTel TP Foees o AT 3qaT v S1TelT &7

A.LED B.LCD 5
C.CRT D.Fole Uad Alferey

Which of the following part of a processor contains the hardware
necessary to perform all the operations required by a computer?

A. Controller B. Registers
C. Cache D. Data path
48
WA & ArAfelf@d 7 & fohg 91197 & Shegyex eary 3aedes gaf
SHTOREIET et & TOIT 3TTaeara TSN 2T &7
A. Controller B. Registers
C. Cache D. Data path

49

Which of the following device use positional notation to represent a

decimal number?
A. Pascaline B. Abacus
C. Computer D. Calculator

AFATef@a 7 & i A1 3T 2erFerg G&ar & g2l & farw
eI TehcleT T 3TN HTaT &7
A. UTEHolleT B. 379%hd




C. FYX D. helghelcX

50

Which of the following defines the assigned ordering among the

characters used by the computer?
A. Accumulation B. Sorting
C. Collating Sequence D. Unicode

PR o & e HeR GaRT ST AT ST el ot &
e Fa ol IR ST 87

A. Accumulation B. Sorting

C. Collating Sequence D. Unicode




